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2. The vectors A and B lie iu the vy plane and have direc-
tions and magnitudes as shown in this diagram.

a) Find the g and y components of A and B.

VUsing the given angleg mﬂuy & 'r-t.'.-u.iirj the
*r!uprin.‘h siqyng,
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-10.2 sin 38" = | - 5.85

*10.2 ws 35" = | + .36

+11.S ws1” = |+ 141

=
T —|.Ssal" = | =-1.401
b) If the vector C is such that
A+B+C=0, _

fued C.
This

Give the magnitude and direction of vector C.

sives C = -A-B , 5

Ai=B; & —-556
*A.r"gr = "6.95
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3. Youstand at the edge of the roof of a 25.0 m-high building 9
and give a ball some initial velocity, The ball hits the gronnd
below 1.31 seconds later.

a) What was the initial velority given to the ball?
Fut the erigim L}rrh} ot He release F""i"d, then 15.Cm
uing  y = y.*xl_‘l‘ + gﬂi." feo time £z |5 3, l’-jt_,"' .

-25.0m = O+ v, (15Is) -L (9.8 3) (-Sts)"

o t=1.51g

Solve far v, :

v, (L.sls) = -13.8 il "ll V = ‘;1‘3_?;_/ ¢Initiol vbocity

b is dewnuard J
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b) What s the speed of the ball just before it reaches the
ground?

We have V, a=d the HM’ S0 uﬁrj V= v~ q,'t'
V= (-928%) + (-9.30%)(1.515)
: =-28.9% %

Se the fined speed i ( (vl = 2396 % |
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You must show all your work and include the right units with your answers!

: _ A
A, =Acosf A, =Asind A=, A2+ 4  tanf= (T*')
’ 1m=100 em 1 kg = 1000 g g=983%
For free-fall prohlems ignore air resistance.
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